KENWOOD

HI/FI STEREO COMPONENTS

'KA-7100

© @ KENWOOD T SELECTOR

OC BTEREO INTEGRATED AMPLIFIER wit KA

SPEAKERS

FONE CONTROL -
o - TRCOLE BhLAN

DC STEREO INTEGRATED AMPLIFIER




KA-T100]

CONTENTS

EXTERNAL VIEW . oooooooooooooe oot 3
INTERNAL VIEW - ooooooooo oot 4
DISASSEMBLY FOR REPAIR .......oooooeoooooeoeoeeee oo 5
BLOCK AND LEVEL DIAGRAM ..o.....oooooooooeooeeeeeeeeeeeeeee e 7
CIRCUIT DESCRIPTION ... oooooooooooeooeeo oo 7
DESTINATIONS' PARTS LIST.......ooovoooiooeeoooeeeerereeeeooeoeeoeeeeeeeoeeeo oo, 9
PARTS LIST ... oooeeoeoooe oo oo e e ee e ee e et e esenee, 10
PC BOARD

POWER AMP (XO7-1510-10) w.v.ovovverereeeereeseeeeeseseeeeeseseeseesesesseeeseee s 12

CONTROL (X1 1-1420-T0) ... ovvvrrreveeoresseeeeseeeseeseseeseeee s eeee s eeeeeereeee e 14

PREAMP (XOB-1570-10) .....ovveoooeooeeeeseoeeroeseeseeeeseeeeseesseeeseessoeeeeneses e 15
ADJUSTMENT ......oovooooeoeo oo eeeee oot eeeeeeee e eee e 16
SEMICONDUCTOR SUBSTITUTIONS .........vvveooooreeeeeieerreeeerererreoeee —— 18
SCHEMATIC DIAGRAM...........ooooeoeooreeeee oo eeeeeeeeeeeeeee s 19
SPECIFICATIONS...........ccooovvvoern... e 20

Note 1: - -
The products are subject to modification in components and circuits in different
countries and regions. This is be;cause each products must be used under the best
condition. .
This manual provides information of modification based on the standard in the U.S.
\'for the convenience of ordering associated components and parts.
(0= Y RPN DU K

L €aANada e P

"7 PX o U
.-Australia
. Eufope”

“".England T
~ Scandinavia .. TSNS P L
L SOUIR AFIICA .. e e e eieiereneste -]
- Other Areas .............. SO OO DS UUROCN M

" Note 2: » RN
Symbol % jn parts list means the new parts.

o




o EXTERNAL VIEW

Knob LED Knob Knob ) Knob
(K23-0268-04) (B30-0126-05) (K23-0274-04) (K21-0340-04). Panel ass'y* - (K23-0268-04)

@ KENwWDOD

o 1o e crsan o amse w s o s

[ 10N COMIROE —oy
AT e i frece

| B )

i
3 I~ ,,,,: — ey vovenass ‘uoueie‘::crm
i e B e
® T T 71 = 9
~ e DUAL POWEA SURELY ‘
: Lever sw.* Phone jack Knob Volume dial ass’y
: (E11-0058-05) or (K27-0051-04) (B20-0399-03)
(E11-0060-15)
! Pin jack Pin jack Terminal
: (E13-0610-05)  (E13-0810-05) (E20-0809-05)

TAPY SPEAKERS{ABG4|6H A+88~100)
- *

RIGHT || LEFT

o ™

'
N\
~
&

CAUTION ——— AC120V oMz —ny
Lo 70 PREVENT ELECTRIC SHOCK, UNSWITCHED  SWITCHED
@ 00 NOT REMOVE COVER. 75, TOTAL ID0WMAX 300WMAX
N USER-SERVICEABLE PARTS
INSIDE. REFER SEAVICING TO
QUALIFIED SERVICE-PERSDNNEL.

Leg* DIN connector socket AC outiet* Power cord*

(E06-0501-05)

GND screw
(N08-0128-25)

* Refer to Destinations’ Parts List.




A-T100

INTERNAL VIEW

Preamp
{X08-1570-10)

Relay N

Power transformer*
{$51-4030-05)

! Rotary sw.
! ($01-1044-15)

Power amp*

Potentiometer
{R10-5001-05}

|
1
I
|

Lever sw.
($33-2026-05)

Rotary sw.
(S01-1043-05)

-+

Refer to Destinations’ Parts List.



|
\
|
]

DISASSEMBLY FOR REPAIR

. CONTROL UNIT:

- When checking the control unit, perform the following

sequences.

(D Remove the case.

@ Loosen the screws fixing the sub-panel and remove one
pair of screws on each side.

® Remove the shaft-couplers of the selector switch, the
tape switch and the speaker switch.

@ Remove 2 screws fixing the panel and the bottom plate.
(lower side)

® Incline the panel frontward. When repairing a PC board
detached from the body, remove the panel assembly
from the sub-panel.

® Pull out the knobs. (For Volume knob, use a hexagon
wrench,)

@ Remove 5 screws fixing the panel assembly on the
subpanel.

Remove nuts of Volume and switches.

® Remove the screws fixing lever switches.

POWER AMPLIFIER UNIT:

The power amplifier unit includes the power supply and the
protection circuit. The power amplifier unit can be checked
and repaired with the case and the bottom plate removed. |If
necessary to take out the unit, remove four screws on the

Knob
{K27-0051-04)

®M3x8 (F)

- Bottom

heat sink and two screws fixing the shield plate of the
preamplifier unit. At this time, inclining the control unit
frontward facilitates the work. (See the foregoing
paragraph.)

PREAMP UNIT:

The equalizer unit includes pin jacks. When disassembling it.
perform the following sequences.

@ Loosen screws of couplers and slide them to the panel
side.

Remove 4 screws fixing the pin jacks.

Loosen screws fixing the rear panel on the chassis and
remove one pair of them on each side.

Remove the cushion which is on the left side when
viewed from the backside. Then, remove screws fixing
the shield plate of the preamplifier on the rear panel.
Remove 3 screws fixing the rear panel on the bottom
plate.

Remove 2 screws fixing the transofrmer mounting
hardware on the rearpanel.

Incline the rear panel backward.

Take out the preamp unit.

Further, if necessary to take out the PC board from shield
plate. remove 3 screws fixing the shield plate.

® 06

o6 6 6

Knob
(K23-0268-04)

@M3x8 (F)

Sub-pane



DISASSEMBLY FOR REPAIR

¢ s== === ¢
I = ==
5 S== i
| = |
I
?| |
o |
[ ! —
] /» T
Loow &
: |
: Do
[10 JNTTTRUR :’ Order of disassembly
Case )
= Note:
S=s= M3 x 8 (Br-Tap): N87-3008_46} Brazier tap tight screw
S== EEe M4 x 12 (Br-Tap): N87-4012-46 p g
=== =EE= [ m3x8(Bi-Tap): N89-3008-45 Binding tap tight screw g
: M3 x 8 (F-Tap): N88-3008-46 Flat head tap tight screw
‘ M3 x 8 (F): N32-3008-46 Flat head screw
| @
: Dress screw @ g
: (N0O8-0125-05)
§ Rear panel
| Control unit ®
(X11-1420-10) Coupler (D22-0031-04) @
" M3 x 8 (Br-Tap) ! (16] Shield plate
M4 x 12 (Br-Tap] é v Preamp
° (X08-1570-10)

M3 x 8 (Br-Tap)

T B
! M3 x 8 .
|7 (Bi-Tap) [”“ E|

- kL g@ M3 x 8
(Br-Tap)

|

M L
J \_@0 Ezg

=2l M3 x 8 (Bi-
@W " i-Tap) -

‘ ®
M3 x 8(Br-Tap)
®
M3 x 8 (Bi-Tap)
®M3x8
(Bi-Tap)

oy
\i‘JUU |

=) M3 x 8 (Br-Tap)

Cushion

M4 x 12 (Br-Tap) .
@ Sub panel ® S T
M3 x 8 (Br-Tap) M3 x 8 (F-Tap) (N09-0287-05)

e Panel
e @M3x 8 (F-Tap)
‘ Loosen.

Power amp unit ”
(X07-1510-10) ® M3 x 8 (Br-Tap) BERRAN
M3 x 8 (F-Tap) -



1
i
v
1
i
|
)
|
I
1
1

v
1
1

BLOCK AND LEVEL DIAGRAM/CIRCUIT DESCRIPTION

MODE ATT

SELECTOR TAPE
Sd | Sd sil Si3

°®

PRE_AMP

BALANCE

PHONO

TAPE A

®©

@
L

TUNER (B ®

o2
©-
@
©-

TAPE B
R

dB)
30 7

20—

@
ébm
AAA
Wiy

LOUDNESS

VOLUME  FILTER TONE JUMP g
® O

HIGH TONE SUBSONIC  poweR aMP
6

SPEAKER
@

0dB=1V
f=1kHz

-1@R® ® ®

L:edsz ®
C)
®
®

_[1somv 1S0mv 1S0mv

-30-

36dB

-40-]

—50

25my

PREAMPLIFIER:

The equalizer consists of a differential amplifier, class A
amplifier and a constant current circuit. The ICL circuit using
a low-noise FET (refer to KA-9100) is employed in the first
stage to improve the phase and transient characteristics.
Further, a zener diode is used in the negative voltage supply
of the differential amplifier to regulate voltage, so that SVRR
is improved.

SVRR (Supply Voltage Rejection Ratio)

SVRR is the ratio of change of output voltage and change of supply voltage
when the supply voltage varies. It is generally used to indicate the
performance of IC

Change of Output Voltage

SVRR
Change of Supply Voltage
+Vee
Fluctuation
IN ouT
IC
DC-VOM

I

Fluctuation

MEASUREMENT OF SVRR

If the supply voltage of equalizer is affected by the power amplifier, the
dynamic crosstalk. S/N and the dynamic range will be changed for the
worse. To resolve these problems, the dual power supply is used and SVRR
is set to a high value.

150mv

FLAT-AMPLIFIER:

The flat-amplifier is a 3-stage direct-coupled amplifier
consisting of an FET and a transistor inverted-Darlington
circuit. The [CL circuit using a low-noise FET is employed in
the first stage to improve the distortion factor and the phase

. -characteristic.

Stabilization of Flat-amplifier

The source of the first stage of flat-amplifier is grounded not
through a resistor but through a capacitor and resistor, so
that the bias is stabilized.

When the collector current of Qib is increased by some
cause, voltage . drop of emitter resistor, Ri27 (2.2K), is
increased. This voltage is applied to the source of Qi1 via
Ri19 (910). That is to say. 100% of DC is negatively fed
back.

When the source voltage of FET is increased. the drain cur-
rent of Qi1 is decreased since the bias is increased. When
the drain current of Qi1 is decreased, voltage drop across
Ri23 (12K) is decreased, the base voltage of Qi3 is increased
and so the collector current of Qi3 is decreased. Therefore.
the collector current of Qib is decreased, so that the circuit is
stabilized. The gain of circuit is about 16 dB.




koo )

CIRCUIT DESCRIPTION
+Vcc
"U'
lc
o—
o IN TONE OUTPUT
Qi5
H ouT
TONE JUMP
O QUTPUT
—Vce AAU_/

. . . KA-7100
In the case of increasing Ic of Qi5.

@ lc of Qi5 increase

@ Voltage drop across Ri27 increase POWER AMPLIFIER:

® VaGsof Qi1 increase . ) . L -
® Id of Qi1 decrease The power amplifier is a DC power amplifier consisting of ‘

® Ve of Qi3 decrease three differential amplifiers including a dual FET input, a
® ic of Qi3 decrease complementary circuit and a final stage. Further this unit
@ Vs of Qi5 decrease includes ASO and constant-current circuits. A one-chip dual

’ lc of Qi6 decrease FET uPAB3H is used in the first stage to decrease DC

leakage current caused by temperature drift to a very small
extent. Furthermore, to improve SVRR, a Zener diode is
used. For the differential amplifier. the protection and ICL
circuitry, reter to KA-9100 Service Manual.

\d
{mA)

; J___ POWER SUPPLY:
R The dual power supply circuit with one transformer is used.
:’\;3)5 Two independent power supply based on the dynamic

crosstalk theory are used for both right and left channels of
power amplifier. A constant-voltage power supply consisting
of a transistor and a Zener diode is used for each channel of
preamplifiers to reduce effect of power amplifier.

f‘*l':l__

BIAS STABILITY OF FALT AMP

TONE CONTROL:

When an NF type tone control circuit is used, the output may
be out of phase with the input. KA-7100 is designed so that
phase change does not occur even if the TONE JUMP is
used.

—‘U_ ’ ) TONE OUTPUT

TONE JUMP
( —O OUTPUT

. i "

UNCONSIDERATED CIRCUIT FOR PHASE CHARACTERISTIC . : K




3% yun dwe 1amogd 1Z2-0LSL-L0X | LT-OLSL-L0X | L9-0LGL-LOX | L9-0LGL-LOX | 19-0LGL-LOX 1Z-0LSL-LOX - OL-01LS1-£0X | OL-OLSL-LOX -
(10300)9s
- abeyjon 1amod) youms apliIs | GO-100Z-LES | SO-LO0T-LES - - G0-1002-1€S | S0-1L00C-LES - - - €S
7] (HAMOd) Uoums 19n07 | GO-LZOZ-E€S | SO-1Z0Z-£€S | SO-ETOZ-EES | SO-ETOZ-EES | GO-ETOC-EES | GO-LZOC-EES - G0-220C-€ES | SO-TCOT-EES IS
- )
ol
3L Jewuogsuest lamod | GO-SEEL-10T | SO-GEEL-107 | SO-LEEL-10T | SO-ZEEL-LOT | SO-9EEL-1LOT | SO-SEEL-1OT - SO-LEEL-107 | SO-LEEL-101 -
(¢
—m Buysnq p1od Jamod G0-€€00-L¥r | Sl-¥200-L¥r | GL-bZ00-LPl | GO-EE00-LPr | SO-EE00-L¥r | SL-¥2TO0-L¥r - SO-¥E€00- LI | SO-VE00- LM -
<t ¥ x B G0-6800-Z0r | S0-6800-Z0f | S0-6800-ZOr | S0-6800-Z0Or | SO-6800-20r | SO-6800-2Or - §0-6800-20r | S0-8800-20r -
a.
. 1800 aus|AylBAiod | ¥0-91+0-0CH | ¥O-b¥0-0CH | ¥0-v¥¥0-0TH | ¥O-b¥¥0-OCH | ¥O-¥¥¥0-0CH | YO-¥¥P0-OCH - YO-¥¥10-0ZH | YO-¥¥¥0-0CH -
N 31 eseouove) | ¥0-2891-10H | $0-2891-LOH | ¥O-¥891-LOH | ¥O-2891-1OH | ¥0-2891-10H | ¥0-Z891-10H - ¥0-€891-LOH | ¥0-2Z891L-1L0H -
=
(e ] pl02 1amod §0-G160-0€3 | S0-90£0-0¥0 | S0-90£0-0¥0 | SO-ZT6Z0-0£3 | S0-0850-0€3 | S0-G810-0€3 - G0-1810-0€3 | G0-1810-0€3 —
—" Bm - - S0-vZv0-223 | SO-¥Z¥0-TZd - S0-vev9-z23 - - - -
= Bn7 §0-12v0-¢23 | SO-1Z¥0-2c3a - - G0-lev0-¢ca | SO-1Zv0-2e3 - - - -
2 €x18In0 JyY | §0-9220-803 | S0-9¢¢0-803 - - - §0-G220-803 — G§0-6220-803 | S0-S220-803 —
—
T& Jaddois youms | $0-9200-Z2€d | ¥0-5200-2€Q - - #0-§£00-2€40 | ¥0-SL00-¢€A - - - -
Wil
[ =] nd nnd nind
4710°0 10310ede) - - €014AEISPII | £E0LAEISIID | £01AEISPUD - — - - ]
NNd NNd NNd .
4710’0 10u08de) | GO-£200-16D | S0-£200-160 | €0LALISYND | E01ALASHID | €0LAEIASPID | SO-€200-16D - §0-G200-16D | G0-1000-162 | Z°LD
L fenuew uononasu| | 00-0Z91L-059 | 00-0291-0S8 | 00-22Z91-0S89 | 00-0Z91-0S8 | 00-0291-0S8 [ 00-0¢9L-058 — 00-1291-0589 | 00-0Z9L-0Sd -
pied Ajueliepp - - 00-0900-9v49 - - - - 01-§500-978 | 00-1900-9v4 -
3L Asse pued | ZO-€¥LL-0ZY | TO-EPLL-0ZV | 2O-bPLLl-02V | TO-EYLL-0ZV | CO-EYLL-02V | ZOE¥LL-0TV - CO-E¥LL-0CV | CO-EVLL-0CY —
uopdioseq (W) (S) w ) (W) x) n (d) on ‘oN
R seely 18430 BOW}Y YInog pue|bugy elIABUIPURDS edoingy elensny Xd epeued v's'n ‘$9H

sued mau L




PARTS LIST

Y : new parts

Ref. No. Parts No. Description . Re- Ref. No. Parts No. ) Description Re-
marks X marks
SWITCH RESISTOR
B s2 S01-1044-15 Rotary (SPEAKERS) ¥ Re17.18 |RD14GY2E182JMA {Carbon  1.8kQ +5%  1/4W
| MISCELLANEOUS Re19.20 |RD14GY2E152JMA [Carbon  1.5k@  +5%  1/4W
| Re29.30 |RD14GY2E102JMA [Carbon 1k £5%  1/4W
- A01-0318-03 Case bAd Re31.32 |RD14GY2E121JMA |Carbon  120Q +5%  1/4W
E Re39.40 |RD14GY2E121JMA [Carbon 1209  +5%  1/4W
- B07-0205-04 Escutcheon (lever sw} X 5 Red3~46 RD14GY2E271JMA [Carbon  270Q  #5%  1/4W
- B20-0399-03 Volume dial ass'y ¥ Re57~60 RD14GY2E331JMA |Carbon 3300  +5%  1/4W
- B30-0126-05 LED ass’y (GD-4-207RD) A Re61~64 RD14GY2E4R7JMA [Carbon  4.7Q +5%  1/4W
- B42-0009-04 Passed sticker Re69~72 R92-0111-05 Cement 0.479 +5%  3W
Re73.74 |RS14GB3D4R7JMA [Metal film 4.7¢ 5%  2W
- D21-0441-04 Shaft {l: 271 mm) x 2 g Re75.76 {RD14GY2E102JMA [Carbon  1kQ +5%  1/4W
- D21-0442-04 Shaft {l: 152 mm) i Re77.78 |RD14GY2E101JMA [Carbon 1002 5%  1/4W
- D22-0031-04 Coupler x 3 Re86 RS14GB3A561JMA |Metal film 5600 +5%  1W
Re87 RS14GB3A182JMA |Metal film 1.8k@  #5%  1W
- E06-0501-05 DIN connector socket Re88 RD14GY2E681JMA {Carbon 6802  +5%  1/4W
- E20-0809-05 Terminal (8P) SPEAKER Re89,90 |RCOS5GF2H221K  |Carbon 2202  +10% 1/2W
- E31-0083-05 7 paraliel cord w Re91,92 |RS14GB3A100JMA |Metal film 102 +5% 1W
| — H10-1484-02 Polyethylene foamed fixture (L) A4 SEMICONDUCTOR
3 - H10-1485-02 Polyethylene foamed fixture (R) * Qel.2 V30-0232-05 Dual FET  uPA 63H (L} or (M}
! - H25-0078-00 Instruction bag Qe3~6 |V03-0500-05 Transistor 2SC1775 (E) or (F)
i Qe7~10 |V01-0218-05 Transistor  25A815 (L) or (K) or %
- J19-0509-04 LED holder V01-0188-05 Transistor 2SA912 (R) or {S)
Qe11,12 |V03-0506-05 Transistor 2SC1940 (L) or (K) or b4
— K21-0340-04 Knob (VOLUME) ¥ V03-0439-05 Transistor 2S5C1885 (R) or (S)
— K23-0268-04 Knob (MODE. LOUDNESS, Qe13.14 |V01-0219-05 Transistor 2SA842 or
; MONITOR, SELECTOR} X 5 V01-0220-05 Transistor 2SA721
: — K23-0274-04 Knob (TONE x 2. BALANCE) e Qe15~ 18V01-0084-05 Transistor 2SA733
— K27-0051-04 Knob (lever) X & : Qe19~22V03-0270-05 Transistor 2SC945
5 Qe23,24 |V03-0467-05 Transistor 2SC1567 (Q) or (R)
‘ - N08-0125-05 Dress screw X 8 or (S)
1 — NO8-0128-25 GND screw Qe25.26 |V01-0187-05 Transistor  2SA794 (Q) or (R)
i or (S)
— X08-1570-10 Preamp unit ¥ Qe27.28 |V04-0086-05 Transistor 2SD427
— X11-1420-10 Control unit * Qe29.30 |V02-0064-05 Transistor 2SB557
: Qe31 V03-0344-05 Transistor 25C1419(B) or (C) or
| V04-0042-05 Transistor 25D234 {0) or (Y)
‘ Qe32 V01-0116-05 Transistor 2SA755 (B) or (C)
| POWER AMP {X07-1510-10) Qe33 V03-0447-05 Transistor 2SC1681 or
- V03-0456-05 Transistor 25C1222
o Re- Qe34 V03-0215-05 Transistor 2SC1213A (C)
: Ref. No. Parts No. Description marks | {De1.2 D11-0435-05 Zener diode EQAO1-24R
. De3.4 |V11-0467-05 Zener diode EQAQ1-28R
‘, CAPACITOR De5~8 |V11-0271-05 Diode 182076
? Cel2 | CKABBIH4T1K Ceramic  470pF  10% De9~12 |V11-0273-05 Diode 152076A
| . De13~15V11-0271-05 Diode 152076
| Ce3.4 CC45SL1H101K Ceramic 100pF +10% De16 V11-0273-05 Diode 1S2076A
! Ce5.6 CC45SL1HO50D Ceramic  5pF +0.5pF : )
' R De17.18 |V11-0467-05 Zener diode EQAQ01-28R
| Ce7.8 CC45SL1H101K Ceramic  100pF  +10% X
Ce9.10 |CCA5SLIH150K | Ceramic  15pF  +10% De19~26V11-0465-050r | Diode GP25D or x
Ce11,12 | ccassL1HOB0D | Ceramic  pF +0.5pF V11-0466-050r | Diode S3V10 or *
Ce13.14 | CC45SL1H100D | Ceramic  10pF  +0.5pF V11-2100-10 Diode UOSC (S)
. De27 V11-0295-05 Diode VO6B
Ce15~ 18 CEOAW1IH100EL | Electrolytic 10uF 50WV THe12 |v22.0016.05 Thermistor  5TP-41L
Ce19~22 CEOAW1E100EL Electrolytic 10uF 25WV :
Ce23.24 | CQ93M1H224M Mylar 0.22uF  +20% POTENTIOMETER
Ce25~28 CEOAWIV101EL | Electrolytic 1004F  35WV VRel,2 |R12-0058-05 PC trimmer 470 (Center voltage)
Ce29.30 | CEO4AW1H471EL | Electrolytic 470uF  5OWV VRe3.4 |R12-0047-05 PC trimmer 500 (Bias)
Ce31~34 C90-0354-05 Electrolytic 6800uF BOWV tr
| Ce35~38 CK45E2H103P Ceramic  0.014F  +100%—0% MISCELLANEOUS .
‘ Ce39 CE04BW1C101MEL| Non-pole electrolytic - E02-0209-05 Transistor socket {To-3) X 4 ; _
| 100uF  16WV i
Ced0 C90-0349-05 Electrolytic 100uF  25WV Fel~4 |F05-4021-05 Fuse (4A} {X07-1510-10)
- Ced1 €90-0344-05 Electrolytic 10uF 50Wv F05-4022-05 Fuse {4A)} (X07-1510-21)
FO5-4024-05 Fuse (4A) (X07-1510-61)

10



¥ new parts

PARTS

LIST

L Re- e Re-
Ref. No. Parts No. Description marks Ref. No. Parts No. Description marks
— F20-0066-05 Mica plate (To-3) X 4 Ci11.12 | cQe3m1H392M Mylar 0.0039uF +20%
Ci13~ 16| CQ93M1H393M Mylar 0.039uF +20%
- J13-0052-05 Fuse clip X 8 Ci17.18 | CEO4AW1C100MEL | Electrolytic 10pF 16WV
Ci19.20 | CEO4AW1E3R3MEL | Electrolytic 3.3uF  25WV
Le1.2 L39-0080-05 Coil Ci21.22 | CEO4AW1C100MEL |Electrolytic 10uF 16WV
Ci23.24 | CEO4AW1E3R3MCC| Electrolytic 3.3uF  25WV
RLe1 $51-4030-05" Relay Ci25.26 | CS15E1ER33M Tantalum 0.33uF  25WV
Ci27.28 |CEOAW1E331EL  |Electrolytic 330uF  25WV
Ci29~32| CC45SL1H100D Ceramic  10pF +0.5pF
Ci33.34 | CQ93M1TH152M Mylar 0.0015uF £20%
PRE AMP (X08-1570-10) RESISTOR
Ri65.66 | RS14GB3A221J Metal film 2202  #5%  1W
Ref. No. Parts No. Description mF::;;(s SEMICONDUCTOR
Qi1.2 V09-0092-05 FET 2SK68A {K) or (L) or {M)
CAPACITOR Qi3.4 | V01-0146-05 Transistor 2SA640 (E) or (F)
cd1,2 | ccassLIH101K Ceramic , 100pF  +10% Qi5.6 V03-0424-05 Transistor 25C1400 (E) or (U)
cd3 CEOAW1C101EL  |Electrolytic 100uF  16WV Qi7.8 V01-0146-05 Transistor 2SA640 (E) or (F}
Cd5.6 | CEOAW1A470EL  |Electrolytic 47uF 10WV Qi9,10 | V03-0424-05 Transistor 2SC1400 (E) or {F)
cd7.8 | CQ09FS1HB22G  |Polystyrene 8200pF +2% ‘Di1.2 V11-4100-10 Zener diode WZ-182
Cd9.10 | CQO9FS1H222G  |Polystyrene 2200pF  +2% POTENTIOMETER
Cd11,12 | CC45SL1H101J Ceramic  100pF  *5%
cd13.14 | cCca5SL1HO50D Ceramic 5pF +0.6pF VRi1 R06-5025-05 Potentiometer 200k (MN)
Cd15.16 | CEO4WO0J221EL | Electrolytic 220uF  6.3WV BALANCE %
Cd17.18 | CEO4AW1E3R3MEL | Electrolytic 3.3uF 25WV VRi2 R10-5001-05 Potentiometer 150k (B) VOLUME *
cd19.20 | CEOAW1E221EL Electrolytic 220uF 25WV VRi3.4 R06-3013-05 Potentiometer 20k (B) X 2 TONE *
Cd21~23 CK45F1H403Z Ceramic  0.04uF  +80%—20% SWITCH
Cd24 CK45D1HB61M Cerami 560pF  +20%
I eramie P ° Sit.2 | S01-1043-05 Rotary x 2 (MODE, LOUDNESS *
RESISTOR Si3~6 | $33-2026-05 Lever X 4 (ATT, HIGH FILTER,
Rd15.16 | RN14BK2H4303F |Metal film 430kQ 1%  1/2W TONE JUMP. SUBSONIC FILTER)
Rd17,18 | RN92BC2E333F Metal film 33k  +1%  1/4W
Rd31 RD14GY2E391JMA |Carbon 3909  +5%  1/4W
Rd32 RD14GY2E331JMA |Carbon 3309  +5%  1/4W
SEMICONDUCTOR
Qd1,2 | V09-0098-05 FET 2SK68A (L) or {K)
Qd3.4 | V09-0094-05 FET 25K68A (N) or {M)
Qd5.6 V01-0191-05 Transistor 2SA872
Qd7.8 | v03-0456-05 Transistor  28C1222
Dd1~4 | V11-0271-05 Diode 182076
Dd5 V11-0349-05 Zener diode EQA01-10
SWITCH
Sd1 $29-1097-05 Slide-rotary (SELECTOR) ¥
Sd2 $29-1098-05 Slide-rotary (TAPE) %
MISCELLANEOUS
— E13-0610-05 Pin jack (6P) Y
— E13-0810-06 Pin jack (8P} %
CONTROL (X11-1420-10)
Ref. No. Parts No. Description Re-
marks
CAPACITOR
Ci1.2 CQ93M1H393M Mylar 0.039uF +20% e
Ci3.4 CEO4W1A331EL  |Electrolytic 330uF  10WV s
Ci5.6 ‘CEO4W1A470EL  [Electrolytic 47uF 10Wv
Ci7.8 CEO4AW1C100MEL |Electrolytic 10xF 16WV
Ci9.10 |CQ93M1H154M Mytar 0.15uF  +20%

11




— - 8 JZ [ |_
o |o ¥8'l giay
._.w ._.g ool 328, [ oo ‘ K
P B D | F< 3% nese- g e8Q _
._um QAR AR L %
o » > z _ :
pury N
_ §as(® Nmm 88 x 1t
o nm.w <ol ® | 4P i ] AOS Ol 819D _
@] @© < dg L3 Lo
SAR| LS [-? ge 280D 99 | % Y=4
RTs| b =33 N u n _
d S et ] > ] DL
— 00l - T e _
ALt - giay AZh- 223D AB2- —w—H
_ " S dOO
%4 O (] le}: —
& 2 Wso \ ° [¥3D g[91en 29 zap
w 3] o
r—y 1 L3 Sz @ ALb- - o I Yo s |
S L =° Sz 8t s ( D
—-— o e, |4 =l N > 4 NwIM.d‘
! = o ¥ ACEZ 2N 3 ®| Sdpuy zoun] S
n NN _ _ -%_r % R ua w.l}) uu.uac m —
— 3 s s 82 S8 b
H s ol o Q@O gnlo =) m 2 2 r o pT @3 2002 T,
vk ¢ad OR? o Dl - o = © | & N 3
— o Oy == | d Lo O =~ o| & 3 S _
1 I <[pt <O|w ~ 3 o =0 X3 ®o=x 3
3y ]
~ Vbl g B FO GO _
=] _ GJN g oo [2%2 Nk 2 ¥a !
>< A oL Led | @ 5 RS} |
o dxwr —I/w © VW h
o A A2t I€9D A
: °l
M [ FORE G (3] L- ) <] K _
2 o Ral|20% [ |2 ° ~Lo
<< s~ =®on P 3 4 NS
T £32 g| B 288053 oz ot =5 ;
e g < 8 75 g o3 I PR =TT 1
Lk WS K¢ [Pegiseg 3 9 g 23 S R Pa |8
Wy pd]
= ®_/olaq osessey NSl SIaC D S B B R 8 12 g LeE Lonils ||
Nig : : = T X T2 T4 1o FoxT ™y
M8'9 | 088y N Wr—= pay = W d
=) (PG o8 N9 CANMENEIH T 5| sleory manlsre| | °. |
a. 8ol J_d9 ] o% R I+ ~AEG 92 =====~9| |ds?
el \ nee 6oy 18 &4, (e I— T oy ¥
A0 & d01g5 —= 3 ho Y3IN3Y| A6l L
Fl © o AO L b o % L e al ... a 1ad
o Y Lo s© Vot = 299| Cw¥F AG'L JOOL _
@ 5 L9 30 [ = gLy £33
3 m 8 —w—iH _
I
! ! 2 3| "7 _
I | 2 3g
43 2 —ullllL o _
3
| o%e es M1 Ol 169 _ 2 = |nog 0} 2100
I¢ O —H— _
_ L) vuor{| _
3
L AvE tad
_ 14 |_
)
T — — — — — — — — — ——— — — — — ——— — — — — —— S— —— -

12



CONTROL (X

Si2 .
Qi1,2 2SK68A (K)or(L)or(M)
LOUDNESS|L gio 8.2k ’
et Qi3,4,7,8 2SA640 (F)or(E)
- .
o) _}"uk]  ais,e,9,10 25C1400 (E)or(U) |
Si2-a I
Si2-b §0 8.2k | I
? Ri12 33K P‘mo )
L X > Y . e X Ry @
N dywlilX [« sng 4.4ViEed ci23 i
| T asy B T20 3 >=8 - EZ [=
ne §T 3V BE0 ; 2 gn.s? S
2w 18.5V| cift Qi7 100K +H = o |
A 5 ; ~ lci3 2
= x 1 g l8v/] Qi3 |.2ov iz °°=3 N 12 Cl 18 & ;
- S5V Z 5 op 1] zl [m I '
I 2 3 Qi5 155 >8] o 1 = REI :
el | oz |5 Qil - abx|d ¥ ) |
s | Rit3 ci29 0o k2] iovz ° 2
! A [ I ST YRy e e - 82 Qi b 5
: + 2l T ea PRV, Rit9 910 (&< o _!lg_ tpaE B o K10
: !1 SO QNS (5 oz X 0o~ TSV ~ 0 [ H “jiav | &
| 5; « 3 F7N 28 .osv/ §E016V cizto tev [FE | Rie 2 e
: :3 Y & ~2d 5e BB |
: BEL 3 Y 238 Bg= 28 5% 274 2% 5Te
5 £]E ; s¥ge &3¢ & 5" i
: n < [xs <13
i > +-H NSBE m Sl ¥ ws4 02X x "
D E.za [L2e] = o L P M TSN Qo9
~ Q ¥ O 2 ESY 27 PP 323 @ © )
330 ©la s B 3 [ S "% 3 4 i} 2 .
g Fezsv g|f 2G| (3 2882w 1 &
2 £ % ezq o 1© fev| [= ] .
" E 13 v | & g|VE 3 :
~ o | [ -~ < !
| 8 B - £~ |rig 220 L o% | M Iz, :
i m 0 i RS I=h 2R &9 :
‘ | o | Qiz LA g < i
Bl i18
i . & cloEm2L cup | aueT ~ 1 % -
h"és = <ov 15 1258 00% 3kl X7 [0 %6V :
228 |5 x % W x T cizo cizg)
| w o N 2| Bgm Yo~ -+
- 3 TSm S x
I z< Ri36‘910‘r< (S]] E S 3.3 25v 3.3 25V
g

[ Audio Signal (Reference value).
DC voltages indicated here are measured with 20 kQ/V meter.

150mV
4 528 7 28V

291y

oz2,
As2

o€ 8210
-,

Soty

02z

ASZ OSE 1210
M

N
: 2y
—

-—— ——— 3 ET
57 NG -~ N o X L L
=z N AN ’ N\ = 2 '
. / ! N 8|38 7 \ ___-Lw = R B e
1 / Ted , s N\ ~ =
| { - s \ WS @ 3Tl si 2 ‘O"Tm ol = -
! \ I / | 2o \\ : Jol 8| =
: N\ 1 / \ B 7/ '
! \ 7/ \ 7/ [
N P NG v <
~—— N i

Qi1.2: 2SK68(K) or (L) or (M), Qi3,4,7.8: 2SA640(E) or {F), Qi5.6,9,10: 25C1400(E) or (U). Dil.2: WZ-182

14



o g [
‘:, P el S U T TY S |
i s NG 7 »
N / N\ Qa c
3 / \- 5 o I 513 5B o6 6 o [ ris 62 5128
P 91 o Wy VVv O <
o} / e \ % Q ia a7 [VRiID200K [VRi- 20(()5
= | s 1 & H I LD |
o \ |l & = % BAL ARCE BALANCE] g5 126 _I)
= \ 2 / iz | g i gl |
I N\ - / = - @ % VRI2-b . RF;i72-|uZK 2 &) o I
~ N / ‘ o 3 150K(B) 150K(B)  © T » 2
9 NS ’ Cr ) & ° | 7 207 AR
= N - Ngl 3 s * [OLVE 222 NoWE 29z 2
3| 8¢ I R Rit6 15\ G 4 e I
ES Oe 2] 85 o B~ Rits _ g 32 2
] 5= FS 220K ey {3 o [2 17 z I
- o O+ 3 | Ri24 12K \Rilﬁ'.'ﬁo ctalois  Jaur = Ri23 12K
o ‘ W
w . . . g | cie 4710V 2o A2 B0 10V 153_ % =20 Cis 47 10V 00D I
~ O i + Sy 25 <% 53 saz |
i R . ) N Ri 26 riz2 |8 S Ri25 o u
> ) 2 o y© o o nN |
. y 1.2K & [Rizt 2.2 .-
& dee  zim ‘o, 5 | 22k 5 oy < |rek Yo 2 [ ©oxN
N _VMZ'BV‘V.-O'IIE v ‘ ) > & | rizs 2.2¢ Ri27 2.2k 2 3 |
@ S : JEE | ~ k% g A N
M . S i o
> L TR R n = Riz2 T 3 riso |mies | 27 “hist < QOY |
B o~ 2 3 | E) 50180 RATE A 136 120 2 28
= ’ \\ : & °8 Sian Sid-q | =70 & Y
= // BN : : | 3 o[FIGHFILER Rize JRIz3 2 [HIGH FILTERTS ok |
~ NG o VRI3-b M ] 1 VRI3— 3| -
o / TN Ri38  20K@) Ri40 4 “ Ri39 20K(B) Ri37 ~TX
3 \ 1 W—MWV—W Mo g
s / 3.3k 189 33K S F*.n\:',:
- ' S | e s L 2 76 e g |
{ N | I iz 22k | 22« L 2 z
cita @I Cite i > i = I
o \\ /’ Gas R & 038 Py l-<'—’I< 55
& |
B \ B / Ri421_2|0K (B) [ Ri44 Ri43 J-ZOK (quﬁi‘n |
& " / i) 2okt (81 [ s 343 | 206 (@) [mia
© LN P | 10K VRid-b 10K foK vRI4-0 10K
R N o
> St I ﬂég 3 2w | ¥2
6€0% . 11D e Sxelley XD
N = grs Ri50 | Ri49 2N <2 I
B - 1 Wy A T W\
~ Xe's, S | Ri52 ok [2a| o 4™ [3 |« [wist |
M 100K 8 5 (2 D | 100k
9 AEE 111 l 3 o |RisS[IOK ~ N |
W = it ST EIMET
= 8 g o 2| 2@ 3 ﬂs:g‘s’
3 R|6‘0 Ri58 RiS7 T = Ri59
= I 11K 1K, ) 11K I
— N by
< .. o2z . g9 0zz - 99w | I
(- U 210 ‘ |
= E ) FEEN s
) Mzl 8w - asz | ¥ |
1% ! R 2 ;
= —W— _ ASZ O%E 1210 OfE 8210 e
N e Wy
2 Nel AL .
L
N
N
S |
N L
|
N

==
=
-
—]
—]
=
e
—
—]
=]

(01-02¥1-11X) 104LNOD

ACI O

T st ol 21 bl
B

2N "_'ﬂ— '

<
Me'e, Lz

Ae'z,, s2y.

@ !
85 3 ;
SR - '
—_ 1 H
z°© o !
-3 :

e ‘ ; :

L 62 T T 3T L ORlY
e T R SESIWASS L e
Capr e e C_OEL il T R Ol . 2EIM
SLsrgieg WL gel L S e W NN N ,
: =W ole,  SEW .- ! = Q16,4 9L . . N DADSD :
[o == W T RL, e (2 Qor>» :
lg. . . : S, eew L L OT e, sew 3 o3 :
b ETAASEE - B TAER, B8 SN :
|§ NE'E . JEly 8 vige, opid » anne :
wwS, o < S, . o o
(3T e Sevm : © b
Lo TR Tl v

Lo agi.

ol to .-

a +N~ ‘
<:

, L <
CUNEE C Gb I‘: :
“6E07, SIS o : ;
SOl L SPI. Qo :
R m :




POWER AMP (X07-1510-10)

{—JAudio Signal (Reference value).
DC voltages indicated here are measured with 20kQ/V meter.

- 2SA755 2SA915 pPAG3H
2SC1419 2SC1213A
12 2SD234 2SC1940
cassit o 10 ov 9 1316
HEAD PHONE ¥ < m
—MWA— Re 90 220 Reh out! {sPouT(-)] [LED] ~ ReSI 10 | P S E Om bmmq
Re 76 IK —285Y === —W *Tich oﬁmﬁ LED c E 1 23
, —_——
Q32 ° . it o Re92 10 1w} j - Re®sERo g 3 20 B
- Y- Ce 30 470 50v : 1 : .
| & caze P NI RPN o T 2SB557 2SA794
100 35y Le2 [ Lo 0 & w 25D427 25C1567
7[R | | cesr Ol v
OF =z8v ut o o | | - 4 8 (o) é
6 JOND] ce26 De 24 De 20 I | De 19 De 23 m /\
28v 100 35v ! | , : BT 25y QO / B
“ —\‘L o
WE + De 26 De 22 b d De 21 De 25 22 ~/ £ C
28V Ce25  m—AM—— —_—A——— —_p—  —A— —W\— . 3/ C (case)
oy 100 35v Re 78 100 Re 74 47 De 27 ce23 .22 Re73 4.7 2w GND]
c  TTTmmmTmmmTTTTT O |
285v —_— SR 19 2SA721  25C1222  25A842
M~
e S cozs_ 2z b I — o o A Rp 25A733  25C1775  2SC1681
e 3 PTEav) 2SA912  25C1885
o . 2SC945
R 17
€ OO & B
—AN— + + + + : o bﬂﬂmﬁ g C
Re 77 100 B . —y— N 3N
Ce 32 6800 50v Ge 34 6800 50v Ce 33 6800 50v Ge3l 6800 50v 2l
+ “.
+ - (o)
/&/ Ce 27 100 35v C.P. .
Ce20 470 S0v
O O
—NA—  —NA— —A— —AM—
Re 72 Re 70 Re 69 .47 3w Re7l .47 3w
47 3w A7 3w
-a7y : arv 6V ey
ov ov
.
) ov
-8V &V ov
;o -
Qe 30 Qe 28 47V Qe 27 —47v Qe 29
- R
—MA\— Qel4 THe 2 N THel ~
S <
<
dﬂ Re 80 27K S _ t
o x 2 ¥|x Re57 330 2
= ] a : — VW—— o
3 Re 60 330 Re62 47 ©[mbe @.m = S
© —AMW—— g —AW—— °Reds 2 2
& | | qesWWaes | || « Re 38 680 <2 Re58 330 oToy% ° © S _
& | ov o B YAl &8 ® Re7o 27K | ¥ Qe2l ' 3 o o
34 39K €3 [Blas] S
b3 —WWWN— o Qels 2 3
0 15K Qe24 8 « %0
N2 Qe6 S el % 0 ShTe a S
g3 8°T « A HE =
&2 Re8 68 gy Re 83 56 K S
b4
Qe20 R Re22470 1y % e 2
&3 —AA— s+ -
T £R 1Ly Rel0o 12Kk _ De4 rRe86 seow |° —H+ @
W A + — A —— Ce40 100 25 i &
ogmy | H Re 4 27K nﬂ%w_ouo eV » =90 10020V pe3 ©
NS} i —AAA— e v
5 wmm.r_m!_mzqmnn_ ._-wom 15K Q33 v 2 A e .._.m
[ S Oz 4 5 = Re 84 33K Cel5 1050v -
'y Re6 6 TR O mw ov I3 _ThiA— T3
Re 42 I5 K o : ~ A . - T O Ress5 56K <
[Reh In ] GND >
Qe 4
L
Sytiie

Qel, 2: uPAB3HIL) or (M), Qe3~6: 25C1775(E) or (F), Qe7~10: 2SA915(L) or (K) or 2SA912(R) or (S), Qell, 12: 28C1940(L) or (K) or 25C1885(R) or (S), Qe13. 14: 2SA842 or 2SA721,
Qel165~18: 2SA733, Qel9~22: 2SC945, Qe23, 24: 2SC1567(Q) or (R) or (S). Qe25, 26: 2SA794(Q) or (R) or (S), Qe27. 28: 25D427, Qe29, 30: 2SB557, Qe31: 28C1419(B) or (C) or
2SD234(0) or {Y), Qe32: 2SA755(B) or (C), Qe33: 25C1681 or 25C1222, Qe34: 2SC1213A(C), Del, 2: EQAO1-24R, De3, 4, 17. 18: EQAO1-28R, Deb~8, 13~15: 1582076, De9~12,

16° 1S2076A, Del9~26: GP25D or S3V10 or UOBC(S), De27: WO6B, THel, 2: 5TP-41L
13




— e ——— .
= —_————
I {0} ! I
5 g O
—(e}) 05 (e} o I
LL ~Fr— ()
oo A |
IT o>k & 2 2qy /) |R931 390 5
E L /
ﬁ/ Saz 238 E“’ E%as| 2
- 23y X8 ]~ Q UJ
IR . 15V ] Qds o ] TL l
> Tisl , Qa1 [ads nl O, ) Ts
2
v | S Slw cd17 T~ |
. = Ratioon (1) (). ” + Rg29) Sdi1-1 Sdz2-1 ©
2Tz 3 R 5 TRa A7 (33 2 470
c)} = =28 430l K ~ >
& L, efe [= &ar Sel, BER
> L]
A ng S .65V 3m L0022 as 8 8 I
X ol ¢ 3-:§ 3| & ca1 22;‘; o b
) s} e 3 PAIY og i S 3 1|23 l
53)_ e Raz5
83 p 3|+ _'Oy 27K
T | e VDT | |
Li¢) - o
3:8 T 3T
i '] o & 3
| - .
i 2'24 ~23 -23.5V 10
| } S e sz A
. R420 2.7K 4
nlz 07 1oV 339 <+ 4
32 Y PN L
'+ 4 [}
3 o ads | A% |
x " ) Q Raz6
N by
o
21 x| & 95y SEe |E catz 27K I
ez 8z & )]s ©T% g 8
E £ O ey
& o] b4 0082 |Cd10 o I
| o|Qd2 Qd43sg 150 9]
- Rd2 Rd16 |Ra1B cass | 2|5
. 100 'QE) ) 430»( 350" 33 25v 3
2 $=, ~Qds 2
3 °Tw b
IS
g > N -1 4
= EE 2 Lo 839
SFa3 2R |
—{(—— —
o Ty g
: (i —
! th—
i L lI\
2 - - —J

[_JAudio Signal (Reference value).
DC voltages indicated here are measured with 20 kQ/V meter.

3 ' . Rd36 100K

Q e
10 8 §|7 6 Rd34" 390K
o0 s oy s e iy e e et
Rd35 100K " | r — - e |
2lm 1 sd2 tape :
T I__._____._._.____l
|

|‘-I'\‘II
_L d OO

" Rd3 93 S6K — Rd4 56K|
L T ’

I I Rd7 s.a ) ~N g . op+ >
! A ] & o —NE * SE T razls |
' A.REC A.REC I Rd9 10K o\ | i %n Cd5 4710V ﬁ:ﬁm - e80!l —%
g2 e ez i & ;
» -’;'v 1|§' 2K,

Cd14 5p ~

P

o -Ln.RdIB 33K
»-m._

E v 50 S
Rd2l 390 'TQ
l R—m § — |-, 471‘( -:ov oL
8. PLAY B.PLAY 33K.L 1.6 cd3100 16V D¢5-23V
can5 5520 }
63v a7 '519 _yRo27 - e
{ |Rd25 L 3.3 . S Nﬂd24 240 T M——
; Uy - . —K--raze- 27
i : W R Dd4 Dd3.
“ N oy 240Rd29 470 - :
*ﬁ - m flod2 = i
TUNER [ -
LTy L
Q47 : U: : g
—— = [
Cd 23 .04 S Cd22 .04 g

Qd1. 2: 2SKB8A(L) or (K). Qd3. 4: 2SK68A(M) or (N}, Qdb, 6: 2SA872, Qd7. 8: 28C1222, Dd1~4: 152076, Ddb: EQAO01-10

156




ADJUSTMENT (1)

CENTER VOLTAGE

®

BALANCE
REAR PANEL 0

SPEAKERS(A.Bz~_l|_60A+EBE16_f_)) @
©

? RIGHT

@IEl©
-

: BALANCE ; CEN.
VOLUME :MIN.
VOLUME
©) SPEAKERS
A
* Bias current meter
(B31-0125-05) or VOM
set to DC 0.3V range. SPEAKERS: A
@ POWER
ON
T POWER : ON
X07-1510-10

5 @
G=
ﬂ?] VRei VRe2 @ Turn the pc trimmer potentiometer until

meter indicates O mV.

16



ADJUSTMENT (2)

Caution: You must adjust the center voltage, referring previous page.

BIAS CURRENT

before this adjustment.

@

cpP cp ocP Ocp
H VRe3 -H VR
H=ZZ o VR4
L-ch R-ch
X07-1510-10

* Bias current meter (B31-0125-0b)
or VOM set to DC 0.3V range.

®

CP: Check Point.

BALANCE
0
BALANCE : CEN.
VOLUME ‘MIN.
VOLUME
POWER @
ON
T POWER: ON

Turn the pc trimmer potentiometer until
meter indicates 20 mV.

17



SEMICONDUCTOR SUBSTITUTIONS

SEMI- 2SA745 2SC1116 2SA755 2SD234
CONDUCTOR SUBSTITUTIONS 2SA747 2SC1403 25B595  2SD525
2SB557 25D427 25K 68

(X07-1510-10) %)

2SA733 25A640, 26A750, 25A841

2SA755 258595 S

25A794 (@), (RL1S) | — ( EO G

25A842 25A721 S~ D

25A915 (L), (K) 25A912 (R), (S), 25A899

2SB657 2SA745, 2SA747 Q/ ¢ (case) 2SA915

25C945 2SC having more than 50V of VCEO- 2SC1213A

2SC1213A — 2SAG40 2SAB72 2SC1940

25C1419 (B). (C) 250234 (0). (Y). 25D525 2SA721 2SA912

25C1567 (Q). (R, () — 2SA733 25C945

25C1681 25C1222 2SA750 25C1222 CB

25C1775 (E). {F) 25C1345 9SA763 2SC1400 £

2561940 (L), (K] {zscmes(m. (S). 25C1904, 25C1451, 3SC1775
3 25C1452 25C1885 2SA841
: 25D427 25C1403,25C1116 2SA842
' uPAB3H (L), (M) - CB 25C1681
(X08-1570-10} E
| 25A872 — 25C1451 8
! 25C1222 2SC1400, 25C1345, 25C1681,25C1775 25C1452 C
‘ 2SK68A (L), (K) — E

25K68A (M, () - % g 2SA794 25CI212A

{X11-1420-10} E 2SA899 %gg} ggz
1 {ZSAGZOWL {4). (5), 25A763WL, 2SA750. (o}
: 25A640 {E), (F)
i 25A841, 2SA872
| " 28C1400 (E), (U) 25C1775.25C1681 B .
‘; 25KE8A (L. (M), (K} c
| E
, When replacing the power transistors 2SB567 and 28D427 PNP NPN Remarks
' to substitutions, power transistor should be paired as shown in
; igh le. Ce 11, b pF
| the right table 25B557 25D427 Ce 13, 10 pF
; Ce 11, 8 pF
| 2SA745 2SC1403 Co1a, 5 pF
Ce 11, 8 pF
; 25A_747 28C1116 Ce 13, 5 pF
ABSOLUTE MAX. RATINGS

TRANSISTOR Vceo VEBO VCEO Ic Pc T Tstg fT
‘ 25A915 — 120V — bV —120 —50 mA | 800 mW 150°C | —5bb6 ~ 4 150°C —
: 25C1940 120V BV 120V 50 mA 800 mw 160°C | —55 ~ + 160°C —

DIODE VRM VR IF lo Isurge P Tj Tstg
f GP-25D 200V 200V — 2.B6A 100A — — —
‘ S3v1i0 100V — — 2.6A 120A — +4+150°C | —30 ~ 4+150°C
| T(L) type _ poweR - POWER _ -1
: GRY (BRW) St 5! St i
! 240V ! 1
! (220V) In 1

5 ¢ o1 _ .o I
) . 5
8 ¢33 01 1 ~ :
3]
WHT r" o c3 o
o o o5 o
O

0
]

c2
—

TCHED

YEL 220V 120V

SWITCHE! UNSWITCHED
8 220~240V 4110~120v 1O TAL 100W 300w

|
!
1



SCHEMATIC DIAGRAM

LEFT CH

" RIGHT CH

D I E

il G

— ||.I.I|Jﬂ|h| CONTROL (X11-1420-1 v _
— o
: = B
,“wm,mw Qit,2 25K68A (K)or(L)or(M) _
11 02k iR | L 2av /(R0 Qi3,4,7,8 25A640 (For(E)
e35mv] PHONO < ~u<mw 935 3 Toasy S Qis,s,9,10 25C1400 (E)or(U) _
S . 15V 8 Qds
AUX SR — s |
@. THF mw oy Qd1 Qd3 Ll v bH e Si2—b Ril0 8.2K
TUNER 3 ._-uw Rd1 400 r ST \qﬁ\ Ry29| Sdi-1 Rin2 33K | %ﬂo’ = _
A .
piay |l |1 LT T P HEE IS 5l3 g
TAPE % i la 28 [z |Gy 1%y £l & 82 1% es = B e _
REC d 8 1ﬂ 85V 2 .00 |ooz2 § z8 & x I e Qi3 |20V i M RE &
N % gl 5| o358 &3 |F il s228) |2 T T 2 el K (LKl
PLAY W | S 27 o %oﬁﬂ%%ﬁlmam g Qi @ \
TAPE B| . 32 |8 cast o oY o j 9 ] - s 220 g 1Ny Fla 18 8
REC o — ol 5 S Y ol 2N oz hiro 910 122 N1 ST 1| o ; wwc L
2E3 a v m m o szl vl e 3 o
‘ Caza aE - ) “ 3 m Fzd E mmuvm V. _osv/Ng1ev cizito 16V 2| Ries o four
IMmo_u 19 330 23V 23.5V BELECTOR] m 3 &2 i3 —— ~—— — 534 mJnmmo o muuw_
o [ ~ 52 &
PHONO ﬂ. . e - < 500 E% gle R hh,\wﬁ o w HER m“,fmWv m ~ mW T2R £33 & 3153 S
R v 938 L —
AUX BE o “lads |85 | % 258 @ R &l Rl% g4 238 oLz
. ne )L | Sreze 8 e7q 5| B L 3808 piaets | 20 LA
TUNER h 8 ¥ w-_- gz gm2 % cotz 27K _ ] _M_n | 2| B EiNes RiZ0 910 g0 [2 cigato tova
PLAY 8 fgom %% TITE g rilooR 8 _ |5 E{ v 2 |ana 20| ok <@
TAPE >_H & ] @ wgl® 0922 Jesse M S Shrlla ¥ @ S 9% en
REC - xamn © adz Q4TS —ﬂ,_:m a8 " fears | & _ ? = Qi2 ® .n“— Hm cit x_u
. L 100 ) Mu 430K 33K iy ™ GBS 34
. PLAY . : x s Qds _ v = . 2i>0jo03 33k
TAPE mﬁ H 3 STS F s % & aln e
REC =] w 0252gx _ _ m. Ri36 w_om i 58
DIN CONNECTOR | J 5 e £%33 51 _ | *
- O ' o —I
10 — - _ —_—— e e—_e—_e——_—— e e ———_— e ——
I LA—
i
7 —_— r — e ||“\| — s — e —— 2
B pyw—
. “2— —
TaPE @) S5, v g =
Qd1,2 25K68A (L)or(K) JTare >O;_umm _uxozoOex POWER/POWER_SUPPLY _(XO7-10-10) _ - PHONES
Qd3,4 2SK68BA (N)or(M) (A-8) _|||¢.. _
Qds,6 2SA872 ek Sd2 Sd1 _ Det | -2aL fremiex ¥ Bio ary r_ _
Qd7,8 25C1222 (A=8) 82282 1" 40mA
Ddrea 135076 o.Mvcmzmmm SJMopE e W] Ey e Qeo Y Qea3 ole our _um_ﬂ.l_
Dds  EQAOI-10 o 4 Q mm<mxmm0 MONO LU [eoros s x| (123) T Qe27 - Ty a w Ro89 220 | heno A
VOLUME CONTROL (d B} S 3 G _ . oMu \PMK vRe3 5008 [oLI5 Qos 2D ey ffest i WND ONE
i i2 i1 @ = e! >~ Jces 4.7 L |_
VRiz2 : ﬂ o Je.u : SN E I RIGHT
. H w5y e = "~ L 21y [2r.3v/en]
SPEAKERS * Il qet o Gor Tar uwlr S ¥ 838, I
A BASS  TREBLE BALANCE 1oV TER) | 15 € SPEAKERS
e O O O m||weErey i ge3s L
6 +B v ReB4 33 .
) ) ) N _M‘M mﬂqzmuwow_nwm of | e e mMM“x ) e 33K L6V _ s uf ) @I_
32 VRi4 VRi3 VRi1 8l b el ¥ x5 a ARE-AR 65v j\ﬁ o s Qg EFT
_ B %8s 583 53 8z o3, 2 wi > De1s |18v_ReBB &80 mdm\|_ LED |
FILTER | |=% 5 8 MES S 8 & Der3|Deta tD1F > rm
TEEAR POWER o TONE SUB HIGH ATTENUATOR ,_—u 3| e e % 2| FoF gl Red5 953 B A . 8 L ol |y Boly |43 2 13 lenp B
ON JUMP  OFF ) ~ - s e = > 835 +wzeus. Z o L3F
o 270 . 6V 2 3287 v e] -
o@m © onﬂ. Mﬂ_ ﬂw nmﬁ | nn»mmw. .MNM = L wr & usv/ 2Y B Qezs|, =47v m s i St e lo 3 _ 14l oND ® _»_OIA\_
ON -20dB H W [m]
s]enD 10 SovET b @
S Sis Sie  Sia Si3 £ et - oA & S
| o&,\OK. <« Ra20 1.5K o o 5 18 S
20E o ¥ [CENTER R ﬁ Qez26 a V=N
ﬁ a &~ T1aT by, Re 4§ 270 a Dmw Qealo Feld4 _jacasy ay
8l lxs Qe BF5 5 Ro64 . &
. w _ mH S vm m m“ Qe20 g m mww 4.7 N8/ o |n Fe3 31 19 | AC33Y ©
UNSWITCHED ~ SWITCHED 3T 38 dn38 T ] i 15T ERT Reeo SR ™ Qe1,2 HPAG3ZH(L)or (M)
300W Total 100W 120v o m_ﬁ.—. lﬁmwnmvm/m e & F§ 538 AL o5 P Qe3~6 25C1775(E) or (F)
= R S hIa " S AT v B33 \M_Vm. T _ Qe7~0  2SA915(L)or (KJor25A912 (R)or(s)
Qe = L m.—. .T Qen,12 25C1940(L)or(K) or 25C1885 (R)or(S)
| ced Ruts|” Qed z s, I8 ) Qef3, 14 25A842 or 2SAT21
_ b - -zev [ Qede ey A =2 _ Qeis~18  2SA733
hd Qet9~22 25C945
3 ©,
AC120V =lee A= _ sl ® MJ oA |3y s Qez3,24  25C1567(Q) or(R)or(S)
50/60HZ x3) | _ Q_maﬂw A 8% O ja} Qezs,26. 25A794 (Q)or(R)or(S)
—H— 5583 Qez7,28  2SD427
o | 81 8L “—Stela Qezs,30  25B557
i " _ De2 §1 § Tk 8T8 Qe3t 25D234(0)or(Y) 25C1419(B)or(C)
St cz .ot ¢ s =) Qe32 2SA755 (Blor(C)
S~ wr B[ Bom | 1 L RS e Qe33 25C 1681 or 25C1222
I e Qesa 25C1213A (C)
) — [ }— De1,2 EQAQ1-24R
,ﬁ = De3,4,17,18 EQAO1-28BR
{61 —— Des~8,13~15 152076
e — Deo~i2,06 152076A
Det9~26 GP25D or S3V10 or UOSC(S)
Dez27 woe6B
THnz  5TP-4IL KA -7100(K)

Note: Resistor values are in ohms.
Capacitor values are in uF unless specified, P=pF=

uFx10%.

DC voltage are measure with 20kQ/V under no signal.

K = 1000 ochms, M = 1000k ohms.

19




SPECIFICATIONS

POWER AMPLIFIER SECTION
POWER OUTPUT

60 watts" per channel, minimum RMS, at 8 ohms from 20 Hz to

20,000 Hz with no more than 0.02% total harmonic distortion.

Both Channel Driven

Dynamic Power Output
Total Harmonic Distortion

Intermodutation Distortion
(60 Hz : 7kHz =4 : 1)

Power Bandwidth

Frequency Response

Signal to Noise Ratio

Damping Factor

Speaker Impedance

PRE AMPLIFIER SECTION

60 + 60 watts 8 ohms at 1,000 Hz
80 + 80 watts 4 ohms at 1,000 Hz
250 watts 4 ohms

0.02% at rated power into 8 ohms
0.02% at 1 watt into 8 ohms
0.01% at rated power into 8 ohms
0.01% at 1 watt into 8 ochms

5 Hz to 45,000 Hz

D.C. to 100,000 Hz +0 dB, —1.5dB
120 dB (short circuited)

50 at 8 ohms

Accept 4 ohms to 16 ohms

Input Sensitivity/Impedance/Signal to Noise Ratio (IHF A curve)

Phono
Tuner
AUX
Tape
Maximum input Level for Phono
Output Level/Impedance
Tape REC (Pin)
{DIN)
Frequency Response
Phono
AUX & Tape
Tone Control
Bass
Treble
Loudness Control (—30 dB) (1)
(2)
Subsonic Filter
High Filter

GENERAL

Power Consumption
A.C. Outlet
Dimensions

Weight (Net)

*

Claims for Amplifier.

25 mV/ 50 k ohms/ 80 dB
150 mV/ 50 k ohms/ 110 dB
150 mV/ 50 k ohms/ 110 dB
150 mVv/ 50 k ohms/ 110 dB
200 mV {rms), T.H.D. 0.02% at 1,000 Hz

150 mV/ 450 ohms
30 mV 80 k ohms

RIAA standard curve +0.2 dB, —0.2 dB
10 Hz to 100,000 Hz +0 dB, —1.8 dB

+7.5 dB at 100 Hz
+7.5 dB at 10,000 Hz
+ 3 dB at 100 Hz.

+ 6 dB at 100 Hz

20 Hz, 6 dB/oct

8 kHz, 6 dB/oct

460 watts at full power
Switched 2, Unswitched 1
W 16-15/16" (430 mm)
H 5-7/8" (149 mm)
D 14-15/16” (379 mm)
25.4 |bs. (11.5 kg)

Measured pursuant to Federal Trade Commission’s Trade Regulation rule on Power Output

. Specifications and the design subject to possible modification without notice due to improvements.

,,
|
!

KENWOOD ELECTRONICS, INC. .

B 15777 SOUTH BROADWAY, GARDENA, CALIFORNIA 30248 US.A.
M 72-02 51ST AVENUE, WOODSIDE. N.Y. 11377 US.A.

TRIO-KENWOOD ELECTRONICS N.V.
M LEUVENSESTEENWEG 184, B-1930 ZAVENTEM, BELGIUM.

TRIO-KENWOOD ELECTRONICS GmbH.
M 6056 HEUSENSTAMM, RUDOLF-BRAAS-STR. 20, WEST GERMANY.

TRIO-KENWOOD FRANCE S.A.
W15, RUE PAUL BERT, 94200 IVRY-SUR-SEINE, PARIS, FRANCE.

TRIO-KENWOOD CORPORATION
3617 AOBADAI, MEGURO-KU, TOKYO, JAPAN.

® 1977-2 PRINTED IN JAPAN B51-0432-00(G) 3,000



